Hindawi Publishing Corporation Discrete Dynamics in Nature and Society Volume 2007, Article ID 47264, 10 pages doi:10.1155/2007/47264

Research Article On a Max-Type Difference Equation

I. Yalçinkaya, B. D. Iričanin, and C. Çinar

Received 17 December 2007; Accepted 24 December 2007

We study the behaviour of the solutions of the following difference equation with the max operator: $x_{n+1} = \max\{1/x_n, Ax_{n-1}\}, n \in \mathbb{N}_0$, where parameter $A \in \mathbb{R}$ and initial values x_{-1} and x_0 are nonzero real numbers. In the most of the cases we determine the behaviour of the solutions in the terms of the initial values x_{-1} and x_0 and the parameter A.

Copyright © 2007 I. Yalçinkaya et al. This is an open access article distributed under the Creative Commons Attribution License, which permits unrestricted use, distribution, and reproduction in any medium, provided the original work is properly cited.

1. Introduction

Let us consider the following difference equation with the max operator:

$$x_{n+1} = \max\left\{\frac{1}{x_n}, Ax_{n-1}\right\}, \quad n \in \mathbb{N}_0,$$
(1.1)

where parameter $A \in \mathbb{R}$, and initial values x_{-1} and x_0 are nonzero real numbers. In this paper we study the behaviour of the solutions of (1.1). The paper studies not only positive solutions of the equation, but also all defined solutions.

Some closely related equations were investigated in [1–12] (see also the references cited therein). For example, the investigation of the difference equation:

$$x_{n+1} = \max\left\{\frac{A_0}{x_n}, \frac{A_1}{x_{n-1}}, \dots, \frac{A_k}{x_{n-k}}\right\}, \quad n \in \mathbb{N}_0,$$
(1.2)

where A_i , i = 0, 1, ..., k, are real numbers, such that at least one of them is different from zero and initial values $x_0, x_{-1}, ..., x_{-k}$, are different from zero, was proposed in [13, 14].

A special case of the max operator in (1.2) arises naturally in certain models in automatic control theory (see, e.g., [15, 16]).

For some other recent results concerning, among other problems, the periodic nature of scalar nonlinear difference equations see, for example, [17–32], and the references therein.

Before we formulate and prove the main results, note that when A = 0, (1.1) becomes $x_{n+1} = 1/x_n$, from which it follows that every solution in this case is periodic with period equal to two. Hence in the sequel we exclude the case A = 0.

2. The case A < 0

In this section we consider the behaviour of the solutions of (1.1) in the case A < 0. A somewhat surprising fact is that in this case the behaviour of the solutions of (1.1) is quite simple. The reason for this is in the fact that when A < 0, each solution of (1.1) is eventually positive. The following theorem completely describes the behaviour of the solutions of (1.1) in this case.

THEOREM 2.1. Consider (1.1) where A < 0.

(a) If $x_{-1} < 0$, $x_0 > 0$, and $x_1 = 1/x_0$, then

$$(x_n) = \left(x_{-1}, x_0, \frac{1}{x_0}, \dots, x_0, \frac{1}{x_0}, \dots\right).$$
 (2.1)

(b) If $x_{-1} < 0$, $x_0 > 0$, and $x_1 = Ax_{-1}$, then

$$(x_n) = \left(x_{-1}, x_0, Ax_{-1}, \frac{1}{Ax_{-1}}, \dots, Ax_{-1}, \frac{1}{Ax_{-1}}, \dots\right).$$
 (2.2)

(c) If $x_{-1} > 0$, $x_0 < 0$, $x_1 = 1/x_0$, and $A \in (-\infty, -1]$, then

$$(x_n) = \left(x_{-1}, x_0, \frac{1}{x_0}, Ax_0, \frac{A}{x_0}, \frac{x_0}{A}, \dots, \frac{A}{x_0}, \frac{x_0}{A}, \dots\right).$$
(2.3)

(d) If $x_{-1} > 0$, $x_0 < 0$, $x_1 = 1/x_0$, and $A \in (-1,0)$, then

$$(x_n) = \left(x_{-1}, x_0, \frac{1}{x_0}, Ax_0, \frac{1}{Ax_0}, \dots, Ax_0, \frac{1}{Ax_0}, \dots\right).$$
 (2.4)

(e) If $x_{-1} > 0$, $x_0 < 0$, $x_1 = Ax_{-1}$, and $1/(Ax_0) \ge A^2x_{-1}$, then

$$(x_n) = \left(x_{-1}, x_0, Ax_{-1}, Ax_0, \frac{1}{Ax_0}, \dots, Ax_0, \frac{1}{Ax_0}, \dots\right).$$
(2.5)

(f) If $x_{-1} > 0$, $x_0 < 0$, $x_1 = Ax_{-1}$, and $1/(Ax_0) < A^2x_{-1}$, then

$$(x_n) = \left(x_{-1}, x_0, Ax_{-1}, Ax_0, A^2 x_{-1}, \frac{1}{A^2 x_{-1}}, \dots, A^2 x_{-1}, \frac{1}{A^2 x_{-1}}, \dots\right).$$
(2.6)

(g) If x_{-1} , $x_0 > 0$, then

$$(x_n) = \left(x_{-1}, x_0, \frac{1}{x_0}, \dots, x_0, \frac{1}{x_0}, \dots\right).$$
 (2.7)

I. Yalçinkaya et al. 3

(h) If x_{-1} , $x_0 < 0$, and $1/(Ax_{-1}) \le Ax_0$, then

$$(x_n) = \left(x_{-1}, x_0, Ax_{-1}, Ax_0, \frac{1}{Ax_0}, \dots, Ax_0, \frac{1}{Ax_0}, \dots\right).$$
(2.8)

(i) If x_{-1} , $x_0 < 0$, and $1/(Ax_{-1}) > Ax_0$, then

$$(x_n) = \left(x_{-1}, x_0, Ax_{-1}, \frac{1}{Ax_{-1}}, Ax_{-1}, \dots, \frac{1}{Ax_{-1}}, Ax_{-1}, \dots\right).$$
(2.9)

Proof. (a), (b) Let first $x_{-1} < 0$ and $x_0 > 0$, then $x_1 = \max\{1/x_0, Ax_{-1}\} > 0$. Using induction it is easy to see that $x_n > 0$ for every $n \ge 0$, and consequently

$$x_{n+1} = \max\left\{\frac{1}{x_n}, Ax_{n-1}\right\} = \frac{1}{x_n}, \quad n \ge 1.$$
 (2.10)

Hence, if $x_1 = 1/x_0 \ge Ax_{-1}$, then every solution is eventually two-periodic, moreover (x_n) can be written as follows:

$$(x_n) = \left(x_{-1}, x_0, \frac{1}{x_0}, \dots, x_0, \frac{1}{x_0}, \dots\right).$$
 (2.11)

If $x_1 = Ax_{-1}$, then

$$(x_n) = \left(x_{-1}, x_0, Ax_{-1}, \frac{1}{Ax_{-1}}, \dots, Ax_{-1}, \frac{1}{Ax_{-1}}, \dots\right).$$
 (2.12)

(c)–(f) If $x_{-1} > 0$ and $x_0 < 0$, then $x_1 = \max\{1/x_0, Ax_{-1}\} < 0$, $x_2 = \max\{1/x_1, Ax_0\} = Ax_0 > 0$, and

$$x_{3} = \max\left\{\frac{1}{x_{2}}, Ax_{1}\right\} = \max\left\{\frac{1}{Ax_{0}}, \min\left\{\frac{A}{x_{0}}, A^{2}x_{-1}\right\}\right\} > 0.$$
(2.13)

By induction we obtain $x_n > 0$, for all $n \ge 2$. Hence $x_{n+1} = 1/x_n$, for all $n \ge 3$. Consequently, in this case, every solution is eventually two-periodic.

If $x_1 = 1/x_0$ and $A \in (-\infty, -1]$, then $Ax_{-1} \le 1/x_0$ which implies $A^2x_{-1} \ge A/x_0$ and, consequently, $x_3 = \max\{1/(Ax_0), A/x_0\} = A/x_0$. Hence

$$(x_n) = \left(x_{-1}, x_0, \frac{1}{x_0}, Ax_0, \frac{A}{x_0}, \frac{x_0}{A}, \dots, \frac{A}{x_0}, \frac{x_0}{A}, \dots\right).$$
 (2.14)

If $x_1 = 1/x_0$ and $A \in (-1,0)$, then $x_2 = Ax_0$ and $x_3 = \max\{1/Ax_0, A/x_0\} = 1/(Ax_0)$. Thus

$$(x_n) = \left(x_{-1}, x_0, \frac{1}{x_0}, Ax_0, \frac{1}{Ax_0}, \dots, Ax_0, \frac{1}{Ax_0}, \dots\right).$$
 (2.15)

If $x_1 = Ax_{-1} \ge 1/x_0$, then $A^2x_{-1} \le A/x_0$; and if $1/(Ax_0) \ge A^2x_{-1}$, then $x_3 = \max\{1/(Ax_0), A^2x_{-1}\}$, so that

$$(x_n) = \left(x_{-1}, x_0, Ax_{-1}, Ax_0, \frac{1}{Ax_0}, \dots, Ax_0, \frac{1}{Ax_0}, \dots\right).$$
 (2.16)

If $x_1 = Ax_{-1}$ and $1/(Ax_0) < A^2x_{-1}$, then $x_3 = A^2x_{-1}$ and

$$(x_n) = \left(x_{-1}, x_0, Ax_{-1}, Ax_0, A^2x_{-1}, \frac{1}{A^2x_{-1}}, \dots, A^2x_{-1}, \frac{1}{A^2x_{-1}}, \dots\right).$$
(2.17)

(g) If $x_{-1}, x_0 > 0$, then $x_1 = 1/x_0 > 0$. By induction we have $x_n > 0$, for all $n \ge -1$ and, consequently, $x_{n+1} = 1/x_n$, for all $n \ge 0$. Thus, in this case

$$(x_n) = \left(x_{-1}, x_0, \frac{1}{x_0}, \dots, x_0, \frac{1}{x_0}, \dots\right).$$
 (2.18)

(h), (i) If $x_{-1}, x_0 < 0$, then $x_1 = Ax_{-1} > 0$, and

$$x_2 = \max\left\{\frac{1}{x_1}, Ax_0\right\} = \max\left\{\frac{1}{Ax_{-1}}, Ax_0\right\} > 0.$$
 (2.19)

Using induction we have $x_n > 0$, for all $n \ge 1$, which implies $x_{n+1} = 1/x_n$, for all $n \ge 2$. Therefore, if $1/(Ax_{-1}) \le Ax_0$, we have

$$(x_n) = \left(x_{-1}, x_0, Ax_{-1}, Ax_0, \frac{1}{Ax_0}, \dots, Ax_0, \frac{1}{Ax_0}, \dots\right).$$
(2.20)

On the other hand, if $1/(Ax_{-1}) > Ax_0$, we have

$$(x_n) = \left(x_{-1}, x_0, Ax_{-1}, \frac{1}{Ax_{-1}}, Ax_{-1}, \dots, \frac{1}{Ax_{-1}}, Ax_{-1}, \dots\right).$$
(2.21)

Remark 2.2. As we have already mentioned, a reason for the facility in finding an explicit solution of (1.1) in the case A < 0 is in the fact that each solution of the equation is eventually positive. Using this fact, we can multiply (1.1) by x_n and use the change of variable $y_n = x_n x_{n-1}$. We obtain the equation $y_{n+1} = \max\{Ay_n, 1\}, n \ge n_0$, with $y_{n_0} > 0$. Hence, $y_{n_0+1} = 1$. By induction we obtain $y_n = 1$, for all $n \ge n_0 + 1$, which is equivalent to $x_{n+1} = 1/x_n$, for all $n \ge n_0$. This implies that each solution of (1.1), in this case, is eventually two-periodic.

3. The case A > 0

In this section we consider the behaviour of the solutions of (1.1) in the case A > 0. Prior to investigating the behaviour of the solutions of (1.1) in this case, we prove two auxiliary results, which are also of independent interest.

LEMMA 3.1. Consider the difference equation

$$y_{n+1} = \max\{Ay_n, 1\},$$
(3.1)

where $y_0 > 0$. Then the following statements are true.

(a) Let $A \in (0,1]$, then each solution (y_n) of (3.1) is eventually constant. Moreover, if $A \in (0,1)$, or A = 1 and $y_0 \in (0,1]$, then $y_n = 1$ eventually, and if A = 1 and $y_0 > 1$, then $y_n = y_0$ eventually.

(b) Let A > 1, then each solution (y_n) of (3.1) eventually satisfies the difference equation $y_{n+1} = Ay_n$.

Proof. (a) Let first $A \in (0,1)$. If $y_0 \in (0,1/A]$, then $y_1 = 1$, since $y_0A \le 1$. It follows that $y_1A < 1$, which implies $y_2 = 1$. By induction we have $y_n = 1$, for all $n \ge 1$.

If $y_0 > 1/A$, then $y_1 = Ay_0$. If $A^2y_0 \le 1$, then $y_2 = 1$ and consequently $y_n = 1$, for all $n \ge 2$. Otherwise, $y_2 = A^2y_0$. Since $A \in (0, 1)$, we have that $A^n \to 0$ as $n \to \infty$, hence there is an index $n_0 \in \mathbb{N}$ such that $A^{n_0}y_0 \le 1$ and $A^{n_0-1}y_0 > 1$. It is easy to see that $y_n = 1$ for all $n \ge n_0$, as desired.

If A = 1, then for $y_0 \in (0, 1]$ we have $y_1 = 1$ and, consequently, $y_n = 1$ for all $n \ge n_0$. If $y_0 > 1$, then $y_1 = y_0 > 1$ and by induction $y_n = y_0$, for all $n \ge 0$, and the result is proven.

(b) If $y_0 \in (0, 1/A]$, then $y_1 = 1$. Further $y_2 = \max\{Ay_1, 1\} = Ay_1 = A > 1 = y_1$. By induction we obtain that $y_{n+1} \ge y_n$, for all $n \ge 1$, which implies $y_{n+1} = Ay_n$, for all $n \ge 1$.

If $y_0 > 1/A$, then $y_1 = Ay_0 > 1$. From this it easily follows that $y_{n+1} = Ay_n$, for all $n \ge 0$, finishing the proof.

The following lemma can be considered as a dual result of Lemma 3.1.

LEMMA 3.2. Consider the difference equation

$$y_{n+1} = \min\{Ay_n, 1\},\tag{3.2}$$

where $y_0 > 0$. Then the following statements are true.

- (a) Let $A \in (0,1)$, then each solution (y_n) of (3.2) eventually satisfies the difference equation $y_{n+1} = Ay_n$.
- (b) Let $A \ge 1$, then each solution (y_n) of (3.2) is eventually constant. Moreover, if A > 1, or A = 1 and $y_0 > 1$, then $y_n = 1$ eventually, and if A = 1 and $y_0 \in (0,1]$, then $y_n = y_0$ eventually.

Proof. (a) If $y_0 \in (0, 1/A]$, then $y_1 = Ay_0 \le 1$. Hence, by induction we have $y_{n+1} = Ay_n$, for all $n \ge 0$. If $y_0 > 1/A$, then $y_1 = 1$ and $y_2 = A < 1$. Thus by induction $y_{n+1} = Ay_n$, for all $n \ge 1$.

(b) If A = 1, then if $y_0 \in (0, 1]$ it follows that $y_1 = y_0$ and thus $y_n = y_0$, for all $n \ge 0$. If $y_0 > 1$, then $y_1 = 1$, from which it follows that $y_n = 1$, for all $n \ge 1$, as desired.

If A > 1 and $y_0 > 1/A$, then $y_1 = 1$, which implies $y_n = 1$, for all $n \ge 1$. If $y_0 \in (0, 1/A]$, then $y_1 = Ay_0$. If $A^2y_0 > 1$, then $y_2 = 1$ and, consequently, $y_n = 1$, for all $n \ge 2$. Otherwise, $y_2 = Ay_1 = A^2y_0 \le 1$. Since $A^n \to \infty$ as $n \to \infty$, there is a number $m_0 \in \mathbb{N}$ such that $A^{m_0}y_0 > 1$ and $A^{m_0-1}y_0 \le 1$. For such chosen index m_0 we have $y_{m_0} = 1$, which implies $y_n = 1$, for all $n \ge m_0$, finishing the proof.

We are now in a position to formulate and prove the main result in this section.

THEOREM 3.3. Consider (1.1), where A > 0. (a) If $x_{-1} < 0$, $x_0 > 0$, and $A \in (0, 1]$, then

$$(x_n) = \left(x_{-1}, x_0, \frac{1}{x_0}, \dots, x_0, \frac{1}{x_0}, \dots\right).$$
 (3.3)

(b) If $x_{-1} < 0$, $x_0 > 0$, and A > 1, then

$$(x_n) = \left(x_{-1}, x_0, \frac{1}{x_0}, Ax_0, \frac{A}{x_0}, \dots, A^n x_0, \frac{A^n}{x_0}, \dots\right).$$
(3.4)

(c) If $x_{-1} > 0$, $x_0 < 0$, and $A \in (0, 1]$, then

$$(x_n) = \left(x_{-1}, x_0, Ax_{-1}, \frac{1}{Ax_{-1}}, \dots, Ax_{-1}, \frac{1}{Ax_{-1}}, \dots\right).$$
 (3.5)

(d) If $x_{-1} > 0$, $x_0 < 0$, and A > 1, then

$$(x_n) = \left(x_{-1}, x_0, Ax_{-1}, \frac{1}{Ax_{-1}}, A^2 x_{-1}, \frac{1}{x_{-1}}, \dots, \frac{A^{n-2}}{x_{-1}}, A^{n+1} x_{-1}, \dots\right).$$
(3.6)

(e) If x_{-1} , $x_0 > 0$, $x_1 = 1/x_0$, and $A \in (0, 1]$, then

$$(x_n) = \left(x_{-1}, x_0, \frac{1}{x_0}, \dots, x_0, \frac{1}{x_0}, \dots\right).$$
 (3.7)

(f) If x_{-1} , $x_0 > 0$, $x_1 = 1/x_0$, and A > 1, then

$$(x_n) = \left(x_{-1}, x_0, \frac{1}{x_0}, Ax_0, \frac{A}{x_0}, \dots, A^n x_0, \frac{A^n}{x_0}, \dots\right).$$
 (3.8)

(g) If x_{-1} , $x_0 > 0$, $x_1 = Ax_{-1}$, and $A \ge 1$, then

$$(x_n) = (x_{-1}, x_0, Ax_{-1}, Ax_0, A^2x_{-1}, A^2x_0, \dots, A^nx_{-1}, A^nx_0, \dots).$$
(3.9)

(h) If x_{-1} , $x_0 > 0$, $x_1 = Ax_{-1}$, and $A \in (0, 1)$, then (x_n) is eventually two-periodic.

(i) If x_{-1} , $x_0 < 0$, $x_1 = 1/x_0$, and $A \in (0, 1]$, then

$$(x_n) = \left(x_{-1}, x_0, \frac{1}{x_0}, Ax_0, \frac{A}{x_0}, \dots, A^n x_0, \frac{A^n}{x_0}, \dots\right).$$
 (3.10)

(j) If x_{-1} , $x_0 < 0$, $x_1 = 1/x_0$, and A > 1, then

$$(x_n) = \left(x_{-1}, x_0, \frac{1}{x_0}, \dots, x_0, \frac{1}{x_0}, \dots\right).$$
 (3.11)

(k) If $x_{-1}, x_0 < 0, x_1 = Ax_{-1}$, and $A \in (0, 1]$, then

$$(x_n) = (x_{-1}, x_0, Ax_{-1}, Ax_0, A^2 x_{-1}, \dots, A^n x_0, A^{n+1} x_{-1}, \dots).$$
(3.12)

(1) If x₋₁, x₀ < 0, x₁ = Ax₋₁, and A > 1, then (x_n) is eventually two-periodic. *Proof.* (a), (b) Let x₋₁ < 0, x₀ > 0, then x₁ = 1/x₀ > 0 and

$$x_2 = \max\{x_0, Ax_0\} = x_0 \max\{1, A\} > 0.$$
(3.13)

Hence if $A \in (0,1]$, then $x_2 = x_0$, and $x_3 = \max\{1/x_0, A/x_0\} = 1/x_0$. By induction we obtain $x_{2n} = \max\{x_0, Ax_0\} = x_0$ and $x_{2n-1} = \max\{1/x_0, A/x_0\} = 1/x_0$, for all $n \ge 2$, that is,

$$(x_n) = \left(x_{-1}, x_0, \frac{1}{x_0}, A x_0, \frac{A}{x_0}, \dots, A^n x_0, \frac{A^n}{x_0}, \dots\right).$$
 (3.14)

If A > 1, then $x_2 = Ax_0$ and

$$x_{3} = \max\left\{\frac{1}{x_{2}}, Ax_{1}\right\} = \max\left\{\frac{1}{Ax_{0}}, \frac{A}{x_{0}}\right\} = \frac{A}{x_{0}} > 0.$$
(3.15)

By induction we obtain $x_{2n-1} = A^{n-1}/x_0$, $x_{2n} = A^n x_0$, for all $n \ge 1$, that is,

$$(x_n) = \left(x_{-1}, x_0, \frac{1}{x_0}, Ax_0, \frac{A}{x_0}, \dots, A^n x_0, \frac{A^n}{x_0}, \dots\right).$$
 (3.16)

(c)-(d) If $x_{-1} > 0$ and $x_0 < 0$, then $x_1 = Ax_{-1} > 0$, $x_2 = 1/(Ax_{-1}) > 0$, and

$$x_3 = \max\left\{\frac{1}{x_2}, Ax_1\right\} = Ax_{-1}\max\{1, A\}.$$
(3.17)

Clearly $x_n > 0$, for all $n \ge 1$.

If $A \in (0,1]$, then $x_3 = Ax_{-1}$ and $x_4 = 1/(Ax_{-1})$. By induction we obtain that $x_{2n-1} = Ax_{-1}$, $x_{2n} = 1/(Ax_{-1})$, for all $n \ge 1$, that is,

$$(x_n) = \left(x_{-1}, x_0, Ax_{-1}, \frac{1}{Ax_{-1}}, \dots, Ax_{-1}, \frac{1}{Ax_{-1}}, \dots\right).$$
 (3.18)

If A > 1, then $x_3 = A^2 x_{-1}$ and $x_4 = 1/x_{-1}$. By induction we obtain $x_{2n} = A^{n-2}/x_{-1}$, $x_{2n-1} = A^n x_{-1}$, for all $n \ge 2$. Hence

$$(x_n) = \left(x_{-1}, x_0, Ax_{-1}, \frac{1}{Ax_{-1}}, A^2 x_{-1}, \frac{1}{x_{-1}}, \dots, \frac{A^{n-2}}{x_{-1}}, A^{n+1} x_{-1}, \dots\right).$$
(3.19)

(e)–(h) If x_{-1} , $x_0 > 0$, then $x_1 = \max\{1/x_0, Ax_{-1}\}$. If $x_1 = 1/x_0$ then $x_2 = \max\{x_0, Ax_0\}$.

Hence, if $A \in (0, 1]$, then $x_3 = 1/x_0$. Using induction we obtain $x_{2n-1} = 1/x_0$ and $x_{2n} = x_0$, for all $n \ge 1$, that is,

$$(x_n) = \left(x_{-1}, x_0, \frac{1}{x_0}, \dots, x_0, \frac{1}{x_0}, \dots\right).$$
 (3.20)

If $A \in (1, \infty)$, we get $x_2 = Ax_0$, $x_3 = A/x_0$, and by induction it follows that $x_{2n} = A^n x_0$ and $x_{2n-1} = A^{n-1}/x_0$, for all $n \ge 1$, that is,

$$(x_n) = \left(x_{-1}, x_0, \frac{1}{x_0}, Ax_0, \frac{A}{x_0}, \dots, A^n x_0, \frac{A^n}{x_0}, \dots\right).$$
(3.21)

If $x_1 = Ax_{-1} \ge 1/x_0$ and $A \in [1, \infty)$, then $x_2 = \max\{1/(Ax_{-1}), Ax_0\} = Ax_0$ and $x_3 = \max\{1/(Ax_0), A^2x_{-1}\} = A^2x_{-1}$. By induction we get $x_{2n-1} = A^nx_{-1}, x_{2n} = A^nx_0$, for all $n \ge 1$. Thus

$$(x_n) = (x_{-1}, x_0, Ax_{-1}, Ax_0, A^2x_{-1}, A^2x_0, \dots, A^nx_{-1}, A^nx_0, \dots).$$
(3.22)

The case when $x_1 = Ax_{-1} \ge 1/x_0$ and $A \in (0,1)$ is more complicated. Because $x_n > 0$, for all $n \ge -1$, we can multiply (1.1) by x_n and use the change of variable $y_n = x_n x_{n-1}$ to obtain (3.1). Since all the conditions of Lemma 3.1 are satisfied, we obtain that in this case the sequence (y_n) is eventually constant. This means that each solution (x_n) of (1.1) in the case is eventually two-periodic.

(i)–(l) If x_{-1} , $x_0 < 0$, then $x_n < 0$, for all $n \ge -1$. If $x_1 = \max\{1/x_0, Ax_{-1}\} = 1/x_0$ and $A \in (0,1]$, we have $x_2 = \max\{x_0, Ax_0\} = Ax_0$ and $x_3 = \max\{1/(Ax_0), A/x_0\} = A/x_0$. By induction we have $x_{2n} = A^n x_0$, $x_{2n-1} = A^{n-1}/x_0$, for all $n \ge 1$, that is,

$$(x_n) = \left(x_{-1}, x_0, \frac{1}{x_0}, Ax_0, \frac{A}{x_0}, \dots, A^n x_0, \frac{A^n}{x_0}, \dots\right).$$
 (3.23)

If x_{-1} , $x_0 < 0$, $x_1 = 1/x_0$, and A > 1, then $x_2 = x_0$ and $x_3 = \max\{1/x_0, A/x_0\} = 1/x_0$. By induction we have that $x_{2n} = x_0$, $x_{2n-1} = 1/x_0$, for all $n \ge 1$. Hence

$$(x_n) = \left(x_{-1}, x_0, \frac{1}{x_0}, \dots, x_0, \frac{1}{x_0}, \dots\right).$$
 (3.24)

If x_{-1} , $x_0 < 0$, $x_1 = Ax_{-1}$, and $A \in (0, 1]$, then $x_2 = \max\{1/(Ax_{-1}), Ax_0\} = Ax_0$ and $x_3 = \max\{1/(Ax_0), A^2x_{-1}\} = A^2x_{-1}$. Using induction we get $x_{2n} = A^nx_0, x_{2n-1} = A^nx_{-1}$, for all $n \ge 1$. Thus

$$(x_n) = (x_{-1}, x_0, Ax_{-1}, Ax_0, A^2x_{-1}, \dots, A^nx_0, A^{n+1}x_{-1}, \dots).$$
(3.25)

Finally, if x_{-1} , $x_0 < 0$, $x_1 = Ax_{-1}$, and A > 1, then since $x_n < 0$, for all $n \ge -1$, multiplying (1.1) by x_n and using the change of variable $z_n = x_n x_{n-1}$, we obtain that the sequence (z_n) satisfies (3.2) and $z_n > 0$, for all $n \ge 0$. Since A > 1, by Lemma 3.2, we obtain that (z_n) is eventually constant which implies that the sequence (x_n) is eventually two-periodic, as desired.

Note. A slightly different version of the paper (mostly without recent references), circulated among some experts in the research field since 2005, was accepted for publication in the International Journal of Pure and Applied Mathematics in April 2005. However, it was withdrawn since it had not been published in a reasonable long period of time.

Acknowledgment

The research of the second author was partly supported by the Serbian Ministry of Science, through The Mathematical Institute of SASA, Belgrade, Project no. 144013.

References

- R. M. Abu-Saris and F. M. Allan, "Periodic and nonperiodic solutions of the difference equation x_{n+1} = max{x_n²,A}/(x_nx_{n-1})," in *Advances in Difference Equations (Veszprém, 1995)*, pp. 9–17, Gordon and Breach, Amsterdam, The Netherlands, 1997.
- [2] R. M. Abu-Sarris and F. M. Allan, "Rational recursive sequences involving the maximum function," *Far East Journal of Mathematical Sciences*, vol. 1, no. 3, pp. 335–342, 1999.
- [3] A. M. Amleh, J. Hoag, and G. Ladas, "A difference equation with eventually periodic solutions," *Computers & Mathematics with Applications*, vol. 36, no. 10–12, pp. 401–404, 1998.

- [4] C. Çinar, S. Stević, and I. Yalçinkaya, "On positive solutions of a reciprocal difference equation with minimum," *Journal of Applied Mathematics & Computing*, vol. 17, no. 1-2, pp. 307–314, 2005.
- [5] K. A. Cunningham, G. Ladas, S. Valicenti, and J. Feuer, "On the difference equation $x_{n+1} = \max\{x_n, A_n\}/(x_n^2 x_{n-1})$," in *New Trends in Difference Equations (Temuco, 2000)*, pp. 79–98, Taylor & Francis, London, UK, 2002.
- [6] J. Feuer, "On the eventual periodicity of $x_{n+1} = \max\{1/x_n, A_n/x_{n-1}\}$ with a period-four parameter," *Journal of Difference Equations and Applications*, vol. 12, no. 5, pp. 467–486, 2006.
- [7] C. M. Kent and M. A. Radin, "On the boundedness nature of positive solutions of the difference equation $x_{n+1} = \max\{A_n/x_n, B_n/x_{n-1}\}$ with periodic parameters," *Dynamics of Continuous, Discrete & Impulsive Systems. Series B*, vol. 2003, pp. 11–15, 2003, suppl.
- [8] D. P. Mishev, W. T. Patula, and H. D. Voulov, "A reciprocal difference equation with maximum," *Computers & Mathematics with Applications*, vol. 43, no. 8-9, pp. 1021–1026, 2002.
- [9] D. P. Mishev, W. T. Patula, and H. D. Voulov, "Periodic coefficients in a reciprocal difference equation with maximum," *Panamerican Mathematical Journal*, vol. 13, no. 3, pp. 43–57, 2003.
- [10] W. T. Patula and H. D. Voulov, "On a max type recurrence relation with periodic coefficients," *Journal of Difference Equations and Applications*, vol. 10, no. 3, pp. 329–338, 2004.
- [11] S. Stević, "On the recursive sequence $x_{n+1} = \max\{c, x_n^p / x_{n-1}^p\}$," to appear in *Applied Mathematics Letters*, 6 pages.
- [12] H. D. Voulov, "On a difference equation with periodic coefficients," *Journal of Difference Equations and Applications*, vol. 13, no. 5, pp. 443–452, 2007.
- [13] G. Ladas, "Open problems and conjectures," *Journal of Difference Equations and Applications*, vol. 2, no. 3, pp. 339–341, 1996.
- [14] G. Ladas, "Open problems and conjectures," *Journal of Difference Equations and Applications*, vol. 4, no. 3, pp. 311–313, 1998.
- [15] A. D. Myškis, "Some problems in the theory of differential equations with deviating argument," Uspekhi Matematicheskikh Nauk, vol. 32, no. 2(194), pp. 173–202, 1977, Russian.
- [16] E. P. Popov, Automatic Regulation and Control, Nauka, Moscow, Russia, 1966, Russian.
- [17] K. S. Berenhaut and S. Stević, "The behaviour of the positive solutions of the difference equation $x_n = A + (x_{n-2}/x_{n-1})^p$," *Journal of Difference Equations and Applications*, vol. 12, no. 9, pp. 909–918, 2006.
- [18] L. Berg and S. Stević, "Periodicity of some classes of holomorphic difference equations," *Journal of Difference Equations and Applications*, vol. 12, no. 8, pp. 827–835, 2006.
- [19] M. R. S. Kulenović and G. Ladas, *Dynamics of Second Order Rational Difference Equations*, Chapman & Hall/CRC, Boca Raton, Fla, USA, 2002.
- [20] S. Stević, "A global convergence results with applications to periodic solutions," *Indian Journal of Pure and Applied Mathematics*, vol. 33, no. 1, pp. 45–53, 2002.
- [21] S. Stević, "The recursive sequence $x_{n+1} = g(x_n, x_{n-1})/(A + x_n)$," Applied Mathematics Letters, vol. 15, no. 3, pp. 305–308, 2002.
- [22] S. Stević, "On the recursive sequence $x_{n+1} = x_{n-1}/g(x_n)$," Taiwanese Journal of Mathematics, vol. 6, no. 3, pp. 405–414, 2002.
- [23] S. Stević, "On the recursive sequence $x_{n+1} = (\alpha + \beta x_{n-1})/(1 + g(x_n))$," Indian Journal of Pure and Applied Mathematics, vol. 33, no. 12, pp. 1767–1774, 2002.
- [24] S. Stević, "On the recursive sequence x_{n+1} = α_n + x_{n-1}/x_n II," Dynamics of Continuous, Discrete & Impulsive Systems. Series A, vol. 10, no. 6, pp. 911–916, 2003.
- [25] S. Stević, "On the recursive sequence $x_{n+1} = A/\prod_{i=0}^{k} x_{n-i} + 1/\prod_{j=k+2}^{2(k+1)} x_{n-j}$," *Taiwanese Journal of Mathematics*, vol. 7, no. 2, pp. 249–259, 2003.
- [26] S. Stević, "Periodic character of a class of difference equation," *Journal of Difference Equations and Applications*, vol. 10, no. 6, pp. 615–619, 2004.

- 10 Discrete Dynamics in Nature and Society
- [27] S. Stević, "On the recursive sequence $x_{n+1} = \alpha + x_{n-1}^p / x_n^p$," *Journal of Applied Mathematics & Computing*, vol. 18, no. 1-2, pp. 229–234, 2005.
- [28] S. Stević, "On the recursive sequence $x_{n+1} = (\alpha + \beta x_{n-k})/f(x_n, \dots, x_{n-k+1})$," *Taiwanese Journal of Mathematics*, vol. 9, no. 4, pp. 583–593, 2005.
- [29] S. Stević, "Existence of nontrivial solutions of a rational difference equation," *Applied Mathematics Letters*, vol. 20, no. 1, pp. 28–31, 2007.
- [30] S. Stević, "On the recursive sequence $x_n = (\alpha + \sum_{i=1}^k \alpha_i x_{n-p_i})/(1 + \sum_{j=1}^m \beta_j x_{n-q_j})$," *Journal of Difference Equations and Applications*, vol. 13, no. 1, pp. 41–46, 2007.
- [31] S. Stević, "On the recursive sequence $x_n = 1 + \sum_{i=1}^k \alpha_i x_{n-p_i} / \sum_{j=1}^m \beta_j x_{n-q_j}$," *Discrete Dynamics in Nature and Society*, vol. 2007, Article ID 39404, 7 pages, 2007.
- [32] S.-E. Takahasi, Y. Miura, and T. Miura, "On convergence of a recursive sequence $x_{n+1} = f(x_{n-1}, x_n)$," *Taiwanese Journal of Mathematics*, vol. 10, no. 3, pp. 631–638, 2006.

I. Yalçinkaya: Mathematics Department, Faculty of Education, Selçuk University, 42090 Konya, Turkey *Email address*: iyalcinkaya1708@yahoo.com

B. D. Iričanin: Faculty of Electrical Engineering, University of Belgrade, Bulevar Kralja Aleksandra 73, 11000 Beograd, Serbia *Email address*: iricanin@etf.bg.ac.yu

C. Çinar: Mathematics Department, Faculty of Education, Selçuk University, 42090 Konya, Turkey *Email address*: ccinar25@yahoo.com